
Expansions based on Johns, Ellis and Lattimer
Off@General::"spell"D; Off@General::"spell1"D;

� Non-degenerate  and non-relativstic:
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besselseries = Simplify@Normal@Series@BesselK@2, xD, 8x, ¥, 6<DDD
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I4729725 - 2162160 x + 1330560 x2 - 1290240 x3 + 3440640 x4 + 7864320 x5 + 4194304 x6M

pNDNR = Simplify@pcoeff Hbesselseries �. x ® n�tLD
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Separate out the first term to make the expansion more clear:

firstterm = ISimplifyApNDNR� t5�2, t > 0E �. t ® 0M t5�2
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pNDNRsimp = Expand@Simplify@8firstterm, pNDNR�firstterm<, n > 0DD
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Calculate the number and energy densities:

ΡNDNR = D@pNDNR, ΨD �t
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I4194304 n6 + 7864320 n5 t +

3440640 n4 t2 - 1290240 n3 t3 + 1330560 n2 t4 - 2162160 n t5 + 4729725 t6M

ft2 = ISimplifyAΡNDNR� t3�2, t > 0E �. t ® 0M t3�2;

ΡNDNRsimp = Expand@Simplify@8ft2, ΡNDNR�ft2<, t > 0DD
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¶NDNR = Simplify@t D@pNDNR, tD - pNDNR + ΡNDNRD
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ft3 = ISimplifyA¶NDNR� t3�2, t > 0E �. t ® 0M t3�2;

¶NDNRsimp = Expand@Simplify@8ft3, ¶NDNR�ft3<, t > 0DD
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� Non-degenerate  and extremely relativistic:
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bs = Series@BesselK@2, xD Exp@xD, 8x, 0, 3<D
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Separate the individual terms:

bs2 = 8Normal@Series@BesselK@2, xD Exp@xD, 8x, 0, 1<DD,
SeriesCoefficient@bs, 2D, SeriesCoefficient@bs, 3D<
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pNDER = Simplify@pcoeff Hbs2 �. x ® n�tLD
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pNDERsimp = Expand@8coefx, pNDER�coefx<D
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Compute the number and energy densities:

ΡNDER = D@pNDER, ΨD �t
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ΡNDERsimp = 8coefx2, Expand@ΡNDER�coefx2D<
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¶NDER = Simplify@t D@pNDER, tD - pNDER + ΡNDERD
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¶NDERsimp = 8coefx3, Expand@¶NDER�coefx3D<
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� The extremely degenerate case:

The pressure from JEL:

p = 1�3 IntegrateAf@lD l4 � SqrtAl2 + 1E � I1 + ExpAISqrtAl2 + 1E - 1M � t - ΨEM, 8l, 0, ¥<E; p �. f@lD ® 1

���
1

3
à
0

¥

�������������������������������������������������������������
l4

i

k

jjjjjjj
1 + ã

��������������������
-1+

"################
1+l2

t
-Ψ

y

{

zzzzzzz
�!!!!!!!!!!!!!!!!
1 + l2

 âl

Change variables to l =
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Hz + 1L2
- 1 and Ψ t=x, and re-examine  the integrand:
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Note that the limits are the same.

Separate out the Fermi function:
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Simplify@degiand - newf� H1 + Exp@z�t - x�tDLD

0

Now we can use the Sommerfeld expansion from Landau and Lifshitz, which is valid when Μ /T (=x/t) is large.
Note that this is an asymptotic expansion, so we have to be careful about including too many terms.
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eq = Integrate@f@ΕD � H1 + Exp@HΕ - ΜL �TDL, 8Ε, 0, ¥<D == Expand@Integrate@f@ΕD, 8Ε, 0, Μ<D +

Integrate@T Normal@Series@Hf@Μ + T zD - f@Μ - T zDL, 8z, 0, 5<DD � HExp@zD + 1L, 8z, 0, ¥<DD
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We add coefficients Α 1 and Α 2 to see how the Sommerfeld expansion contributes
(we’ll set them to one later)
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� The extremely degenerate and non-relativistic  case:

pEDNR = Expand@Simplify@Normal@Series@ped, 8t, 0, 5<DD, 8Ψ > 0<DD
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There appears to be a typo in the reference?

Compute the number and energy densities:
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ΡEDNR = Expand@D@pEDNR, ΨD �tD
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¶EDNR = Expand@Simplify@t D@pEDNR, tD - pEDNR + ΡEDNRDD
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329 Π4 t7�2 Α2

3072
�!!!!!
2 "#####

Ψ

+ ����������������������������������������

9 Π2 t5�2 Α1 "#####
Ψ

8
�!!!!!
2

+ ����������������������������������������������

343 Π4 t9�2 Α2 "#####
Ψ

3072
�!!!!!
2

+

���
2

3

�!!!!!
2 t3�2 Ψ3�2 + ���������������������������������������������

235 Π2 t7�2 Α1 Ψ3�2

192
�!!!!!
2

+ �������������������������
9 t5�2 Ψ5�2

5
�!!!!!
2

+ ������������������������������������������
49 Π2 t9�2 Α1 Ψ5�2

192
�!!!!!
2

+ ����������������������������
47 t7�2 Ψ7�2

56
�!!!!!
2

+ �������������������������
7 t9�2 Ψ9�2

72
�!!!!!
2

¶EDNRsimp = 8coefy2, Expand@¶EDNR�coefy2D<

: ���
2

3

�!!!!!
2 t3�2 Ψ3�2, 1 + ���������

235

256
Π2 t2 Α1 + �����������������

7 Π4 Α2

640 Ψ4
- �������������������������
63 Π4 t Α2

2560 Ψ3
+ �������������

Π2 Α1

8 Ψ2
+

������������������������������
329 Π4 t2 Α2

4096 Ψ2
+ �������������������������
27 Π2 t Α1

32 Ψ
+ ������������������������������
343 Π4 t3 Α2

4096 Ψ
+ ���������������
27 t Ψ

20
+ ���������

49

256
Π2 t3 Α1 Ψ + �����������������������

141 t2 Ψ2

224
+ �����������������
7 t3 Ψ3

96
>

� The extremely degenerate and extremely relativistic case:

p2 = Expand@Simplify@Normal@Series@ped, 8t, ¥, -1<DD, Ψ > 0DD

������
1

12
Π2 t2 Α1 + ���������

7

180
Π4 t4 Α2 - ��������

t Ψ

6
+ ���
1

3
Π2 t3 Α1 Ψ + �������������

t2 Ψ2

4
+ ���
1

6
Π2 t4 Α1 Ψ2 + �������������

t3 Ψ3

3
+ �������������
t4 Ψ4

12

p2big = Series@ped, 8t, ¥, 2<D;

pEDER = Simplify@8Normal@Series@ped, 8t, ¥, -1<DD, SeriesCoefficient@p2big, 0D,
SeriesCoefficient@p2big, 1D, SeriesCoefficient@p2big, 2D<, Ψ > 0D

: ���������
1

180
t I7 Π4 t3 Α2 + 15 Π2 t Α1 I1 + 4 t Ψ + 2 t2 Ψ2M + 15 Ψ I-2 + 3 t Ψ + 4 t2 Ψ2 + t3 Ψ3MM,

���������
1

480

i

k

jjjjj-35 - �����������������
7 Π4 Α2

Ψ4
- ��������������������
10 Π2 Α1

Ψ2
- 60 LogB ���

1

t
F + 60 Log@2 ΨD

y

{

zzzzz,

�����������������������������������������������������������������
7 Π4 Α2 + 5 Π2 Α1 Ψ2 + 15 Ψ4

120 Ψ5
, - ������������������������������������������������������������������������

7 I7 Π4 Α2 + 3 Π2 Α1 Ψ2 + 3 Ψ4M

288 Ψ6
>
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coefz = Ψ4 t4 � 12

�������������
t4 Ψ4

12

pEDERsimp = 8coefz, Expand@pEDER�coefzD<

: �������������
t4 Ψ4

12
, :1 + �������������

Π2 Α1

t2 Ψ4
+ �����������������
7 Π4 Α2

15 Ψ4
- �������������

2

t3 Ψ3
+ �����������������
4 Π2 Α1

t Ψ3
+ �������������

3

t2 Ψ2
+ �����������������
2 Π2 Α1

Ψ2
+ ��������

4

t Ψ
,

- ��������������������
7 Π4 Α2

40 t4 Ψ8
- �����������������

Π2 Α1

4 t4 Ψ6
- �����������������

7

8 t4 Ψ4
- ������������������������

3 LogA ���
1

t
E

2 t4 Ψ4
+ ���������������������������
3 Log@2 ΨD

2 t4 Ψ4
,

��������������������
7 Π4 Α2

10 t4 Ψ9
+ �����������������

Π2 Α1

2 t4 Ψ7
+ �����������������

3

2 t4 Ψ5
, - ����������������������

49 Π4 Α2

24 t4 Ψ10
- �����������������
7 Π2 Α1

8 t4 Ψ8
- �����������������

7

8 t4 Ψ6
>>

Compute the number and energy densities:

ΡEDER = Expand@D@pEDER, ΨD �tD

:- ���
1

6
+ ���
1

3
Π2 t2 Α1 + ��������

t Ψ

2
+ ���
1

3
Π2 t3 Α1 Ψ + t2 Ψ2 + �������������

t3 Ψ3

3
,

��������������������
7 Π4 Α2

120 t Ψ5
+ �����������������

Π2 Α1

24 t Ψ3
+ ������������

1

8 t Ψ
, - �����������������

7 Π4 Α2

24 t Ψ6
- ��������������

Π2 Α1

8 t Ψ4
- ��������������

1

8 t Ψ2
, ��������������������
49 Π4 Α2

48 t Ψ7
+ �����������������
7 Π2 Α1

24 t Ψ5
+ �����������������

7

48 t Ψ3
>

coefz2 = t3 Ψ3 � 3

�������������
t3 Ψ3

3

ΡEDERsimp = 8coefz2, Expand@ΡEDER�coefz2D<

: �������������
t3 Ψ3

3
, :1 - �����������������

1

2 t3 Ψ3
+ �������������

Π2 Α1

t Ψ3
+ �����������������

3

2 t2 Ψ2
+ �������������

Π2 Α1

Ψ2
+ ��������

3

t Ψ
,

��������������������
7 Π4 Α2

40 t4 Ψ8
+ �����������������

Π2 Α1

8 t4 Ψ6
+ �����������������

3

8 t4 Ψ4
, - �����������������

7 Π4 Α2

8 t4 Ψ9
- �����������������
3 Π2 Α1

8 t4 Ψ7
- �����������������

3

8 t4 Ψ5
, ����������������������

49 Π4 Α2

16 t4 Ψ10
+ �����������������
7 Π2 Α1

8 t4 Ψ8
+ ��������������������

7

16 t4 Ψ6
>>

¶EDER = Expand@Simplify@t D@pEDER, tD - pEDER + ΡEDERDD

:- ���
1

6
+ ������

5

12
Π2 t2 Α1 + ������

7

60
Π4 t4 Α2 + ��������

t Ψ

2
+ Π2 t3 Α1 Ψ + �����������������

5 t2 Ψ2

4
+ ���
1

2
Π2 t4 Α1 Ψ2 + t3 Ψ3 + �������������

t4 Ψ4

4
,

������
19

96
+ ��������������������

7 Π4 Α2

120 t Ψ5
+ �����������������
7 Π4 Α2

480 Ψ4
+ �����������������

Π2 Α1

24 t Ψ3
+ �������������

Π2 Α1

48 Ψ2
+ ������������

1

8 t Ψ
+ ���
1

8
LogB ���

1

t
F - ���

1

8
Log@2 ΨD,

- �����������������
7 Π4 Α2

24 t Ψ6
- �����������������
7 Π4 Α2

120 Ψ5
- ��������������

Π2 Α1

8 t Ψ4
- �������������

Π2 Α1

24 Ψ3
- ��������������

1

8 t Ψ2
- ��������

1

8 Ψ
, ��������������������
49 Π4 Α2

48 t Ψ7
+ ��������������������
49 Π4 Α2

288 Ψ6
+ �����������������
7 Π2 Α1

24 t Ψ5
+ �����������������
7 Π2 Α1

96 Ψ4
+ �����������������

7

48 t Ψ3
+ �������������

7

96 Ψ2
>

coefz3 = Ψ4 t4 � 4

�������������
t4 Ψ4

4
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8coefz3, Expand@¶EDER�coefz3D<

: �������������
t4 Ψ4

4
, :1 - �����������������

2

3 t4 Ψ4
+ �����������������
5 Π2 Α1

3 t2 Ψ4
+ �����������������
7 Π4 Α2

15 Ψ4
+ �������������

2

t3 Ψ3
+ �����������������
4 Π2 Α1

t Ψ3
+ �������������

5

t2 Ψ2
+ �����������������
2 Π2 Α1

Ψ2
+ ��������

4

t Ψ
,

��������������������
7 Π4 Α2

30 t5 Ψ9
+ �����������������������

7 Π4 Α2

120 t4 Ψ8
+ �����������������

Π2 Α1

6 t5 Ψ7
+ ��������������������

Π2 Α1

12 t4 Ψ6
+ �����������������

1

2 t5 Ψ5
+ ��������������������

19

24 t4 Ψ4
+ ��������������������

LogA ���
1

t
E

2 t4 Ψ4
- �����������������������
Log@2 ΨD

2 t4 Ψ4
,

- �������������������
7 Π4 Α2

6 t5 Ψ10
- ��������������������

7 Π4 Α2

30 t4 Ψ9
- �����������������

Π2 Α1

2 t5 Ψ8
- �����������������

Π2 Α1

6 t4 Ψ7
- �����������������

1

2 t5 Ψ6
- �����������������

1

2 t4 Ψ5
,

����������������������
49 Π4 Α2

12 t5 Ψ11
+ ����������������������
49 Π4 Α2

72 t4 Ψ10
+ �����������������
7 Π2 Α1

6 t5 Ψ9
+ ��������������������

7 Π2 Α1

24 t4 Ψ8
+ ��������������������

7

12 t5 Ψ7
+ ��������������������

7

24 t4 Ψ6
>>

Massless pair formulas

� The expression for the chemical potential ’nu’ in terms of n, g, T:

sqt = SqrtA729 n2 + 3 g2 Π2 T6E

"###############################################729 n2 + 3 g2 Π2 T6

cbt = H-27 n + sqtL
1�3

i

k
jj-27 n +

"###############################################729 n2 + 3 g2 Π2 T6 y

{
zz
1�3

nu = Ig Π4 � 3M
1�3

 T2 � cbt - IΠ2 � 9 � gM
1�3

 cbt

����������������������������������������������������������������������������������������������
g1�3 Π4�3 T2

31�3 K-27 n +
"###############################################729 n2 + 3 g2 Π2 T6 O

1�3
-

i

k

jjjj ���
1

g

y

{

zzzz

1�3
i

k
jjj ���

Π

3

y

{
zzz
2�3

i

k
jj-27 n +

"###############################################729 n2 + 3 g2 Π2 T6 y

{
zz
1�3

� Rephrase cbt in terms of a convenient variable Α :

cbt2 = 3 n1�3 I-1 + SqrtASimplifyAI729 n2 + 3 g2 Π2 T6M � 729� n2EEM
1�3

3 n1�3

i

k

jjjjjjjjjjj
-1 + &'''''''''''''''''''''''''''''''1 + �������������������

g2 Π2 T6

243 n2

y

{

zzzzzzzzzzz

1�3

cbt3 = 3 n1�3 J-1 +
�!!!!!!!!!!!!!
1 + Α N

1�3

3 n1�3 J-1 +
�!!!!!!!!!!!!!!
1 + Α N

1�3

Α0 = g2 Π2 T6 � 243� n2

�������������������
g2 Π2 T6

243 n2
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� Rewrite ’nu’ completely in terms of Α

cbt4 = J-1 +
�!!!!!!!!!!!!!
1 + Α N

1�3

� Α1�6

�������������������������������������������

J-1 +
�!!!!!!!!!!!!!!
1 + Α N

1�3

Α1�6

nu2 = Π T�Sqrt@3D H1�cbt4 - cbt4L

�������������������������������������������������������������������������������

Π T
i

k

jjjjjjjj
����������������������������

Α1�6

i

k
jjj-1+

"###########1+Α
y

{
zzz
1�3

- ����������������������������

i

k
jjj-1+

"###########1+Α
y

{
zzz
1�3

Α1�6

y

{

zzzzzzzz

�!!!!!
3

Demonstrate that these are the same:

8N@nu �. g ® 1 �. n ® 2 �. T ® 3D, N@nu2 �. Α ® Α0 �. g ® 1 �. n ® 2 �. T ® 3D<

81.30813, 1.30813<

8N@nu �. g ® 3 �. n ® 1 �. T ® 2D, N@nu2 �. Α ® Α0 �. g ® 3 �. n ® 1 �. T ® 2D<

80.496892, 0.496892<

8N@nu �. g ® 2 �. n ® 3 �. T ® 1D, N@nu2 �. Α ® Α0 �. g ® 2 �. n ® 3 �. T ® 1D<

83.73228, 3.73228<

8N@nu �. g ® 1 �. n ® 3 �. T ® 2D, N@nu2 �. Α ® Α0 �. g ® 1 �. n ® 3 �. T ® 2D<

83.45517, 3.45517<

8N@nu �. g ® 3 �. n ® 2 �. T ® 1D, N@nu2 �. Α ® Α0 �. g ® 3 �. n ® 2 �. T ® 1D<

82.47111, 2.47111<

8N@nu �. g ® 2 �. n ® 1 �. T ® 3D, N@nu2 �. Α ® Α0 �. g ® 2 �. n ® 1 �. T ® 3D<

80.332918, 0.332918<

� Some series expansions:

Series@nu2 Sqrt@3D � Π �T, 8Α, 0, 3<D

����������
21�3

Α1�6
- ����������

Α1�6

21�3
+ ��������������

Α5�6

6 22�3
+ �����������������

Α7�6

12 21�3
- �����������������

Α11�6

18 22�3
- ��������������������

5 Α13�6

144 21�3
+ �����������������������

77 Α17�6

2592 22�3
+ O@ΑD19�6

Series@nu2 Sqrt@3D � Π �T, 8Α, ¥, 3<D

�����������������

2 $%%%%%%%���
1

Α

3
- ������

8

81

i

k

jjjj ���
1

Α

y

{

zzzz

3�2

+ ���������
32

729

i

k

jjjj ���
1

Α

y

{

zzzz

5�2

+ OB ���
1

Α
F

7�2
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